Sr. No.: 0 246 18



॥ विद्यया समाजोत्कर्प: ॥

SEMESTER GRADE REPORT

INSTITUTE:

U.V. PATEL COLLEGE OF ENGINEERING

PROGRAM:

MASTER OF TECHNOLOGY

BRANCH:

CIVIL ENGINEERING (STRUCTURAL ENGINEERING)

SR.NO.	SEMESTER	MONTH & YEAR OF EXAMINATION
2101417011015	l l	JAN - FEB 2022 REGULAR

ENROLLMENT NO. NAME
21014171015 RAVAL PARTH BHUPENDRABHAI

ADVANCE STRUCTURAL ANALYSIS			Earned	Earned	Earned
	THEORY	4.00	Α	9.00	36.00
	PRACTICAL	1.00	A+	10.00	10.00
REINFORCED CONCRETE STRUCTURE	THEORY	4.00	A+	10.00	40.00
processors and a second real processors and the second second second second second second second second second	PRACTICAL	1.00	A+	10.00	10.00
ADVANCE FOUNDATION ENGINEERING	THEORY	3.00	A+	10.00	30.00
	PRACTICAL	1.00	A	9.00	9.00
CONSTRUCTION MATERIALS AND REHABILITATION OF STRUCTURE	THEORY	3.00	B+	8.00	24.00
SOFTWARE LABORATORY AND DESIGN STUDIO -I	PRACTICAL	3.00	A'÷	10.00	30.00
COMMUNICATION SKILLS	THEORY	2.00	B+	8.00	16.00
		1/			
	ADVANCE FOUNDATION ENGINEERING CONSTRUCTION MATERIALS AND REHABILITATION OF STRUCTURE SOFTWARE LABORATORY AND DESIGN STUDIO -I	REINFORCED CONCRETE STRUCTURE PRACTICAL ADVANCE FOUNDATION ENGINEERING CONSTRUCTION MATERIALS AND REHABILITATION OF STRUCTURE SOFTWARE LABORATORY AND DESIGN STUDIO -I	REINFORCED CONCRETE STRUCTURE THEORY 4.00 PRACTICAL 1.00 ADVANCE FOUNDATION ENGINEERING THEORY 3.00 PRACTICAL 1.00 CONSTRUCTION MATERIALS AND THEORY 3.00 REHABILITATION OF STRUCTURE SOFTWARE LABORATORY AND DESIGN PRACTICAL 3.00 STUDIO -I	REINFORCED CONCRETE STRUCTURE THEORY 4.00 A+ PRACTICAL 1.00 A+ ADVANCE FOUNDATION ENGINEERING THEORY 3.00 A+ PRACTICAL 1.00 A CONSTRUCTION MATERIALS AND THEORY 3.00 B+ REHABILITATION OF STRUCTURE SOFTWARE LABORATORY AND DESIGN PRACTICAL 3.00 A+ STUDIO -I	REINFORCED CONCRETE STRUCTURE THEORY 4.00 A+ 10.00 PRACTICAL 1.00 A+ 10.00 ADVANCE FOUNDATION ENGINEERING THEORY 3.00 A+ 10.00 PRACTICAL 1.00 A 9.00 CONSTRUCTION MATERIALS AND THEORY 3.00 B+ 8.00 REHABILITATION OF STRUCTURE SOFTWARE LABORATORY AND DESIGN PRACTICAL 3.00 A+ 10.00 STUDIO -I

		Current Pe	erformance		
Credits Offered	Credits Earned	Grade Points Earned	Credit Points Earned	SGPA	Backlog
22.00	22.00	84.00	205.00	9.32	0
		Cummulative	Performance		
Credits Offered	Credits Earned		Credit Points Earned	CGPA	Cummulative Backlog

205.00

	RESULT
119	Current
	PASS
Effe	ctive Backlog
	0

Date: 28/03/2022

22.00

"No Charge in any entry is to be made except by the authority issuing the cartificate. Any infringement will be seriously dealt with"

22.00



84.00



9.32

0



Sr. No.: 0 2 29 19



॥ विद्यया समाजोत्कर्ष: ॥

SEMESTER GRADE REPORT

INSTITUTE:

U.V. PATEL COLLEGE OF ENGINEERING

PROGRAM:

MASTER OF TECHNOLOGY

BRANCH:

CIVIL ENGINEERING (STRUCTURAL ENGINEERING)

SR.NO.	SEMESTER	MONTH & YEAR OF EXAMINATION
2201417021014	11	APRIL-JUNE 2022 REGULAR
NDOLLMENT NO		

ENROLLMENT NO. NAME
21014171015 RAVAL PARTH BHUPENDRABHAI

Course Code	Course Title		Course Credit Earned	Course Grade Earned	Grade Points Earned	Credit Points Earned
3SE201	ADVANCE DESIGN OF STEEL	THEORY	4.00	A	9.00	36.00
22223	STRUCTURE	PRACTICAL	1.00	A	9.00	9.00
3SE202	FINITE ELEMENT METHOD	THEORY	3.00	В	7.00	21.00
		PRACTICAL	1.00	В	7.00	7.00
3SE203	STRUCTURAL DYNAMICS &	THEORY	3.00	A	9.00	27.00
	EARTHQUAKE ENGINEERING	PRACTICAL	1.00	A	9.00	9.00
3SE204	PRESTRESSED CONCRETE	THEORY	3.00	B+	8.00	24.00
3SE205	RESEARCH METHODOLOGY	THEORY	2.00	B+	8.00	16.00
		PRACTICAL	1.00	В	7.00	7.00
3SE206	SOFTWARE LABORATORY & DESIGN STUDIO - II	PRACTICAL	3.00	A+	10.00	30.00
3SE207	SEMINAR	PRACTICAL	1.00	Α	9.00	9.00

State of the last		Current Pe	rformance		
Credits Offered	Credits Earned	Grade Points Earned	Credit Points Earned	SGPA	Backlog
23.00	23.00	92.00	195.00	8.48	0
		Cummulative	Performance		
Credits Offered	Credits Earned	Grade Points Earned	Credit Points Earned	CGPA	Cummulative Backlog
45.00	45.00	176.00	400.00	8.89	0

RESULT

Current

PASS

Effective Backlog

0

Date: 03/08/2022

"No Change in any entry is to be made except by the authority because the certificats. Any infringement will be seriously dealt with."







Sr. No.: 033517



॥ विद्यया समाजोत्कर्षः ॥

SEMESTER GRADE REPORT

INSTITUTE:

U.V. PATEL COLLEGE OF ENGINEERING

PROGRAM:

MASTER OF TECHNOLOGY

BRANCH:

CIVIL ENGINEERING (STRUCTURAL ENGINEERING)

SR.NO.	SEMESTER	MONTH & YEAR OF EXAMINATION
2201417031014	III	NOV - DEC 2022 REGULAR

ENROLLMENT NO. NAME
21014171015 RAVAL PARTH BHUPENDRABHAI

Course Code	Course Title		Course Credit Earned	Course Grade Earned	Grade Points Earned	Credit Points Earned
3SE301 3SE302 3SE303 3SE313 (E) 3SE321 (E)	DESIGN OF BRIDGES DISSERTATION PHASE – I INDUSTRIAL TRAINING – I DESIGN OF TALL STRUCTURES CONTRACTS ADMINISTRATION	THEORY PRACTICAL PRACTICAL THEORY PRACTICAL THEORY	3.00 8.00 3.00 2.00 1.00 3.00	A A+ A A B+	9.00 10.00 10.00 9.00 9.00 8.00	27.00 80.00 30.00 18.00 9.00 24.00

and the same of		Current Pe	erformance		
Credits Offered	Credits Earned	Grade Points Earned	Credit Points Earned	SGPA	Backlog
20.00	20.00	55.00	188.00	9.40	0
		Cummulative	Performance		
Credits Offered	Credits Earned	Grade Points Earned	Credit Points Earned	CGPA	Cummulative Backlog
85.00	65.00	221.00	599.00	0.05	0

	RESULT
To the	Current
	PASS
Effe	active Backlog
	0

08/02/2023

We Change in any entry is to be made except by the authority assuing the certificate, Any infringement will be seriously dealt with."







Sr. No.: 050850



॥ विद्यया समाजोत्कर्षः ॥

SEMESTER GRADE REPORT

INSTITUTE:

U.V. PATEL COLLEGE OF ENGINEERING

PROGRAM:

MASTER OF TECHNOLOGY

BRANCH:

CIVIL ENGINEERING (STRUCTURAL ENGINEERING)

SR.NO.	SEMESTER	MONTH & YEAR OF EXAMINATION
2301417041014	IV	APRIL - JUNE 2023 REGULAR

ENROLLMENT NO.	NAME		
21014171015	RAVAL PARTH BHUPENDRABHAI		

Course Code	Course Title		Course Credit Earned	Course Grade Earned	Grade Points Earned	Credit Points Earned
3SE401 3SE402	DISSERTATION PHASE-II INDUSTRIAL TRAINING-II	PRACTICAL PRACTICAL	12.00 3.00	A A+	9.00 10.00	108.00 30.00
		Anna de la companya d				

	CONTRACTOR CONTRACTOR	Current Pe	rformance		
Credits Offered	Credits Earned	Grade Points Earned	Credit Points Earned	SGPA	Backlog
15.00	15.00	19.00	138.00	9.20	0
		Cummulative	Performance		
Credits Offered	Credits Earned	Grade Points Earned	Credit Points Earned	CGPA	Cummulative Backlog
80.00	80.00	250.00	726.00	9.08	0

25/07/2023

CGPA for Award of Degree 9.08

"No Change in any entry is to be made except by the authority issuing the certificate. Any infringement will be seriously dealt with."

Sr. No.: 050850





Executive Registrar